EE 230 — HW 64 Name

a. In the circuit at right, the two NMOSs are identical: y,Cox = 100 pA/V2, Ve =10V
DD~

W/L =5 pm /0.5um, and V7, =1 V. Find vps for the lower transistor.
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Choose a new width for the upper transistor so that vps; for lower transistor will 3V -
be 3 V. All other parameters and circuit values remain unchanged.
Wa=
Vop=10V
b. In the circuit at right, the NMOS has y,Cox = 100 uA/V2, W, /L, =5 um /0.5um, <_T

and V7, =1V, and the PMOS has p,Cox = 50 puA/V2, W, /L, = 10 pym /0.5um,
and V7, =—1 V. Find vps, for the NMOS.
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NMOS: vps, = 3V _17 -

Choose a new width for the PMOS so that vps, for NMOS will be 3 V. All other parameters and
circuit values remain unchanged.

Wp =

Put your answers — and whatever work will fit — on this sheet. Staple any sheets with additional work behind.



